STXR
V4 A a Y & 4

B m =
gEO—F K38215
; = MFH5050R
R pte R 3 MFH5050R-01

* BmMTEN DRI, W Ehmitia RN e I EFZELY,
- A mO—ERICIE, FEoH Y MRTDAHDERRAHIET,

= tIHI 7?7 O UST v o






D T3EXIZDNT

HEBRmOMIGERICDONT

GE, FRUHEBEZ ZERE < 7ZE 0,

—

SISICICIcE
S

[y

20 B

ﬁ

S

5=

R

jix3

o Zo Eo

PR

!
)

B O3

XEREREEXIHRRRBE LT, RRICREA
DAR—LTL—FIRRTLTLWET,

2. o =], [ ]iE UFozea®kLT
BOES,

(=] v nl, MABAENTO S WD
B 2 12 0 F72 20

(] 7 v s 5 6 T
TS L7 i

3. RHEEN[ | iceoCnd b olt, il
i EEVD, IR R DD ETOT, ZOH
BE SRR SO & E T,

4. MO —EIZIE, & -y MERTBOHR
DR B T3, THLOBILI TR ZE
W, FERE BRSO 0ERL TR >
MRFED DX E SE W2 & FT,

KEBITWRFICLY FERSBIR - MEEZLE
TLHLZEBRHYET,

FEER A S A IERT A 2 B E O SRO S TEE W,
ML BT D £9 & MO
PEREISZ BT 2580 H 0 £,

Z DR OAE AR SR OAAGEERR GFI) 13, B
EFHUVR%9FETY, ZEL, fIGFERNTH-
Th., FERESIZ OW TR & & THR S E T
W GabH Y £,

FEET S DU IR RIBIZ 1T ERE O AR EEIR THE
TLETA, BHEFEREIER TH->Th, Mt
#5 D ZHFED B o TG BT K UMk 2o
TIMHRESETWEEEET,

REEIZDULNT

PR DO UGBTI DFR & 720 £4 DT, 1T
TLES W,

godE L7e G B Pl B SR~ S 72 IE LUTE
MBI E B2 D581E, BRIEOIRIN 2D £4 D
TITEELSIZSN,



MFH5050R J# L—Y/1\—ARX%

A2 ITL—L4

S
%31 ) Lw 8 i 1(3425
44
J\ 43
4
10
AHER| W oM F B B i 4 i A% T =
1 |1514981004 |~_X—ZACP 1
2 11492951006 VX TR AU 1
3 | 1500090004 ARErLFL— | 1
4 0808250004 TV R 1
5 | 0808260004 TN L 1
6 | 0809610004 T 2
7 10808241004 T 2
8 | 0808270004 ZFL—k 2
9 | 036731000M | HF— 2
10 | 1135651004 AR RCP 1
11 | 077934200M =V 1
12| 0241180000 77 1
13 | 0828720004 A7waly h; 17T 1
14 | 1495020004 A7'valry hCP 1
15 | 075318000M W bs 1
16 078880100 | NAT 2Ty v ; 16 2
17 | 149846000 |HZ—; 1 7. 5X37 1
18 | 149847000M VAN 1
19 |081267000M |F > a3 a—F5CP 1
20 | 0704880004 77 v b 2
21 | 070489000M =% 2
22 | J62067 _X7UV7 62067 2
23 | DHCO62 CHHA AT T+ 62 2
24 | ONA6 sV —2=w 7L A M6 1
25 | 000739000M JoFEry; 9 2
26 | PC032032 JYEY 3. 2X32 2

-1-




MFH5050R J# L—Y/1\—AX 4%

AATL—LA
AHES| B M F B il i 4 PR [EES fii

27 1 000738000M JoFEL ;6 1
28 | NC2L20150 Xy v ALFYyF 2¥2bBZ M20X1. 5| 2
29 |NSZ10 aff A Fyh 8 22 M10 10
30 | BZ16060 ALk 8.8 M16X60 2
31 |BXI16110 ALK 10. 9 ¥ M16X110 1
32 | NZ16 Fvk 8 23v2 MI16 4
33 | BZ12030 ALk 8.8 M12X30 4
34 | BSZ10025 afARLE 7T M10O0X25 4
35 | 044098500M Tvy¥ ;10 10
36 | BSZ10060 afAZRLE 7 M10X60 6
37 | 055474000M B KRR 8. 8 M8X20 8
38 | CM08025 +HT7axy M8X25 10
39 [NSP08 ABFEATY T Fy N 4 M8 18
40 | 044097200M Jyiy ;8 4
41 | 042322200M Ty ;16 2
42 | BSZ10030 afHZRLE 7 M10X30 4
43 | BZ12130 ALk 8.8 M12X30 1
44 | NNF12 75 0FAuarFy b M1 2 1
45 | 1514990004 ¥ 7 b 2
46 | 1515000004 kv 7<~AKRCP 1
47 | BZ20070 ALk 8.8 M20X70 5
48 | BZ20080 ALk 8.8 M20X80 1
49 | NZ20 Fvkh 8 2v2 M2O0 6
50 | WSA20 NxYPHx 337 M20 6
52 | 070638200M =V 2
53 | 079140100M Ko — R 1
54 | 000739000M VoFErr ;9 2
55 | 120255000M VoFEy =TT 4 —F v v FUF 4
56 | 0899120000 T~ ;900~1000r pm 1
74 | 0900276004 AL T7L—ACP ; 2 1
75 | WSA16 NEXHFHX 3d7 M16 3
76 | WSA12 NEXYPHx 337 M1 2 4
77 |NZ12 Fvk 8 2v=2 M12 4
78 | 1064800000 SV /ALY 66 1
79 | WRALO AR M10 10
80 | WSALO NEYPHF 337 M10 10
81 |8024801004 a2l yHCP 1 | AFar
82 | 113545000M oy RCP 2
83 | 099710000M T — 2
84 | 040608401M Ty ; 13X4. 5 2
85 |NZ12 Fvh 8 2va2 M12 4
86 | 000056200M L :;B10X40 2
87 | PC032016 JUry 3. 2X16 2
88 | 1495031004 7T FHRNVE 1
89 | 1495040000 T va 1
90 | 081381100M ZFL—k 1
91 | 149505100M 0y e 1
92 | 067032100M AT T 1
93 | PS050050 AFYTEY 5X50 1
94 |NNF10 7504 vmrFy h M10 2

-2-




MFH5050R J# L—Y/1\—AX 4%

Y77 —L

15
[ 4
#ITHA

o
AR
2

&

4 28 26
AHET| 55 & 5 B mi 4 i) A% T =
1 | 1492681004 V7 h7—ALCP 1
2 8040700004 LR—CP 1 | R.10, 30fF
3 1804067000M 2y FCP 1
4 0706102004 n—7 2
5 |089961100M AT T HRNVECP 1
6 | 0706130004 7L —k 2
7 1072961000M =V 1
8 | 070611100M =V 2
9 | 074062000M =V 1
10 0729331000 Ty va 1
11 | 0899621000 AT T 1
12 | 0767640206 YU H;35X100 1
13 |KHO403500AP | =7 YAk —A 1,/4X3500 1—4 1
14 | 112156000M VRNV 1,/4 1
15 | CLF40M Hh7TT7 FA 1,/2 1
16 | 2083-08-04 =7V 1/2X1,/4 1
17 [1033-04 AR—AxT)VR PF1/4XPT1,/4 1
18 | 089090000M =% 1
19 |BZ16110 ALEF 8.8 M16X110 1
20 | BXI16300 ALE 10. 9 ¥ M16X300 1
21 |NZ16 Fvhk 8 232 M16 1
22 | NN16 FAuerFvh M16 1
23 | BSZ10030 aFHRNLE 7 M10X30 4
24 | BZ12080 ALk 8.8 M12X80 1
25 | NNF12 75 oV0FAuarFy b M1 2 1

-3-




MFH5050R 774 L—U/1n—ARZ 4
Y77 —L

23
14 /M
16
15
8
i %\
EITHRE
TAR 30 /

@ <
4 28 26
A& 5o 5 & mi 4 i) % T =
26 | 042322200M Ty ;16 2
27 1 000739000M JoFEL; 9 1
28 | PC032032 ULy 3. 2X32 3
29 | PC050056 JUEL 5X56 1
30 | ONB6 JY)—ZA=vw7)L B M6 2
31 | 091056000M HT7—;16. 5X27 2
32 | 0007781000 N7T7xxv7 51,2 1
33 [ WSA1L0 NEXFHX 337 M10 4
34 |NSZ10 afHZFvyh 8 232 M10 4
35 | 804073000M F v bk 1
36 | NZ20 Fvh 8 2v=2 M20 1




MFH5050R J# L—Y/1\—AX 4%

4 ba—t

A& 5 s & 5 B mi 4 i) A% T
1 | 1632460003 27 RCP ;50 1
2 | 1246091003 ARy FCP 1
3 |0703160003 7 1
4 |0703176003 T — TR A — L 2
5 10703191003 A XV 2
6 | 149489000M BTN T 1
8 | 070315000M =V 1
9 10703213000 T a 2
10 | 1243072003 va—hCP 1
11 | 0889822003 ~v KCP 1
1210900602003 AF—CP 1
13 | 074702000M =% 1
14 0703420003 777> RCP 1
15 | 070346200M 77 1
16 | 134162000M 7—VJCP 1
17 | 159163000M 777 v bk 1
18 | 070348200M V% 1
19 | 134161000M V% 1
20 | 071365000M v 1
21 | 0729460003 HAR—h 1
22 | 0815632003 vy v X T L— | 1
23 0703432000 B rR— 1
24 | 084346000M HT— 3
25 | 040883300M AT T 1




MFH5050R J# L—Y/1\—AX 4%

B ka—Fk

AHES| B oM F B B m 4 i) [EES fii
26 | 059504000M A7) T H 1
27 10943980000 n—>7:;4. 5X4500 1
28 | 7018020000 HA R 1
29 | 1506270000 aF7VYE—H;ORB—G—70 1
30 | 1591620000 NRT— A RE—X 1
31 | 1505350000 AL v FRy 7 A 1 |BE=—X 15A
32 | 1345450000 2—FK;5000 1 | &=—X 30A
33 | 1505370000 I— R, A TRy 7 A 1
34 | BZ12060 ALEF 8. 8 M12X60 10
35 | 1494881003 FT—HX—ZACP 1
36 | BZ12035 ALF 8.8 M12X35 4
37 | BZ12030 ALk 8.8 M12X30 8
38 | NNF12 75 V0FAurFy b M1 2 2
39 | 067931100M Ty ;12 2
40 | 000443200M BT FARNLE 8. 8 M10X35 3
41 | 000451000M BT FRNLE 8.8 M10X25 6
42 | BSZ10020 aBFHERLE 7T M10X20 6
43 |NSZ10 afXZFvyhk 8 2¥=2 M10 11
44 | WSA10 NAYPHx 337 M1O0 15
45 | 044098500M Tyl % ;10 15
46 | 055474000M BT FRLE 8. 8 M8X20 5
47 | TRK06020 6 FAFRY 10. 9 ZAKI M6X20 1
48 | BSZ08045 afHRVE 7T M8X45 1
49 | BSZ08025 afHZRNVE 7T M8X25 4
50 | BSZ08020 afHRLE 7T M8X20 4
51 [NNFO08 7oAy b M8 1
52 | NSP08 AFEATY T Fy N 4 M8 17
53 | BZ12040 ALk 8.8 M12X40 4
54 | BP06012 SWYFHR/NLE 4. 6 M6X12 3
55 | NZ06 Fvh 8 2v=2 M6 1
56 | WRAOS 7Y% R MS 2
57 | DC0O20 CHHX AT Y7 20 1
58 | ONCS1 JV—A=v7) C PT1,/8 6
60 | ONB6 JV)—2A=v 7L B M6 4
61 | PSO50050W ATV Ty XTIy 5X50 1
62 | PSO80050W ATV Ty XTIy 8X50 1
63 | PS080032 AFY LT 8X 32 4
64 | PC050036 JUEL 5X36 2
65 | PC032025 ULy 3. 2X25 1
66 | PC032016 JUEy 3. 2X16 1
67 | 1246071003 A AT aryy2a—kRCP ;1200 1
68 | 0900621003 va— kKL ECP 1
69 |0703231003 T 2
70 | 057347100M J v h ;M1 2 2
72 | NIOS TAFvh M8 1
73 | ILT200 Arvany I ¥ A 4. TX202 1
74 | 055640100M A7V 1
75 | 071615200M R—A 1 | "e6ft




MFH5050R J# L—Y/1\—AX 4%

4 ba—t

A& s 5 B i 4 i % T

76 | 000086200M | NX—H ;1 2X2 1

77 | 0442890000 =1 ;M8 2

78 | 0918050000 o—FK; 2000 1

79 | FVLF2 FVZyZ27 LF2 1

80 | 0918000003 AV AT arCP 1 | AT ar
81 |BZ12035 ALk 8.8 M12X35 8 |A7vav
82 | 0858112003 AV AT aryy2a—hRCP; 850 1 | AT ar
83 | ILT100 Aauy I ZA4 2. 5X100 4

84 | 1061641000 TV A ay 1 1

85 | 1065251000 SV AL ay 111 1

86 | BSZ08030 afHRNVE 7T M8X30 4

87 |NZ12 Fvh 8 2v2 M12 22

88 | WSA12 NAYPHx 337 M1 2 24

89 |NSZ08 afXZFvhk 2va2 MS 1

90 | 1108880200 SUUHE L CWP40X200X370 1

91 | 000738000M JoFEL ;6 2

92 | 1013-04-06 A—A=v SV PF1/4XPT3,/8 1

93 | KHO405000AP | =7 YA —A 1,/4X5000 1—4 1

94 |2083-08-04 =7V PT1,/2X1,/4 1

95 | CLF40M HF5 FA PT1,/2 1

96 | 0007781000 N7T7xxv7 51,2 1

97 |NZ12 JFvh 8 2v=2 M12 8 |A7vav
98 | WSA12 NEXPFEHX 33d7 M1 2 8 | AFvar
99 |0918022003 A AT aryy2a—kRCP ;1500 1 | AT ar
100 | 0005261000 77— 1

-7-




MFH5050R T4 L—U/1\—ARR%4
4 ba—t

e R e s B H 4 i) A% T
101 |2081-06-04 Ty PT3,/8XPT1,/4 1
102 | 112156000M TARUNRY 1,4 1
103 | 1245930000 Z~L; MFH5000 1
104 | 1339780000 STAR~—Z7 7L ; 40 2
105 | 1038750000 LNy g ANR— R 2
106 | 1320000003 Va—hkKNVHECP ; AT ar 1 | A7 vav
107 | NNF12 75 V0FAurFy b M1 2 2 | ATvav
108 | TRK06012 6 hAXY 10. 9 ZHKI M6X12 1
109 | 080414100M Ty ;8 2
110 | 150008000M HA KCP 1
111 | 079496100M HA Ka—nCP 1
112 | 115098000M HT7—;9. 2X5. 5 1
113 | BSZ08040 aBFHERLE 7T M8X40 1
114 | BZ12040 ALk 8.8 M12X40 2
115 |NZ12 Fvh 8 2v2 M12 2
116 | WSA12 NEYPHF 337 M1 2 2
117 | 106900000M 7w/ PF1,/2XPT3,/8 2
118 | 1033-04-06 AR—Ax )R PF1,/4XPT3,/8 2
119 | KHO405000AP |z 7Y AHR—Z 1,/4X5000 1—4 2
120 | CLF40M Hh7rZ FA PT1,/2 2
121 | 112156000M VRNV 1,4 1
122 | 2083-08-04 =7V PT1,/2X1,/4 2
123 | 0009830000 ANy TV T 1,/ 4 1
124 | 0007781000 N7T7xxv7 5 1,/2 2
ASY | 1634230000 AV AT aAS 1 A7 A

580, 81, 97, 98, 106, 107




MFH5050R  J# L—Y/n\—A~X%
ARWRY Y X

31

AHET| 55 & 5 B mi 4 i) A% T

1 |0897421004 XYHRy 7 A 1

2 | 0897492004 ER A 1

3 | 0864050004 Xy v/ 1

4 0843410002 _RAYLFY M5, 5X20T 2

5 | 0897561000 ¥ 7 hk;PIC 1

6 | 1514871000 Ty 7 b 1

7 10445851000 DN 1

8 | 0445862000 DN 1

9 | 0701880000 DN 1

10 | 0666090000 A 1

11 | 085537200M Ay ZFvh;M35X1. 5 1

12 | J30308 T—mua—7 X7y 7 30308 1

13 | 76307 X7V 6307 2

14 | D35558 + A — D35558 1

16 |BZ12035 ALEF 8. 8 M12X35 6

17 | BZ10030 ALEF 8.8 M10X30 4

18 0591333000 Tz I TTTAS 1

19 | 000338000M 777 i M10 2

20 | 0003390000 SN T 2 |M107Z 7 H
21 | 0008240000 PICHh/N—; 2 1

23 | BZ16040 ALk 8.8 M16X40 16

24 | JHAO50ASY NRy—TaAf b ; HA—50 1

25 | 0897520002 NRALFY ;28T (540 r pm) 1 | A7 vav

-9-




MFH5050R  J# L—Y/nN\—A~R2R4&
ARWRY Y X

31

A& 5 o5 5 B i A i A% fii =
26 | 0897530002 RAULFY 15T (5401 pmf) 1 | A7Fvar
27 10864121000 HT—:40. 5X23 (540r pmM) 1 | A7Fvar
28 | WSA12 NxYPHx 337 M1 2 6
29 | WSA10 NEHFH%X 3327 M1O0 4
30 |WSA16 NEPHEX 337 M16 16
31 | 0000963000 PIC¥yv>v~7; 35 1
32 | 1514880004 75.YCP ;R 1
33 | 1514910004 759 L 1
34 | BZ14050 ALBF 8.8 M14X50 4
35 | WSA14 NxYPHx 337 M1 4 4
36 | WRA14 IR M1 4 4

37 | 077047000M AX—H; 35X2. 3

38 | 0445091000 LNy F -

-10 -




MFH5050R J# L—Y/1\—AX 4%

FR w4 ZNo. 1

32

FyRyIZANo.2
HEI~

TIARA—ILA

A& s 5 B mi 4 i) % T =
1 |0897430004 XYHRy 7 A 1
2 0814280000 XY ; 19T 1
3 10814320000 ¥ ;24T 1
4 10701970000 ¥ 7 bk 1
5 | 0828382000 Ty 7 b 1
6 |0828401004 T—URA; 2 1
7 10702111000 HT— 1
8 10919740004 7—1U ;175 1
9 0899410000 HT— 1
10 | 0899420000 7L —k 1
11 | 0665764006 VaAfr bkl 1
12 | 0669544006 VaAfr bk 2 1
13 | 070280100M Ty 7 b 1
14 | J6206 X7V 6206 3
15 | J6306 X7V 6306 1
16 | D407210 FAN— D40XT2X10 1
17 | D30507 AN —)L D30OX50X7 1
18 | KRCA621072 =¥y v URYEF 621072 2
19 | ORGO30 ovVr7 G330 1
20 | DHC062 CHZ I NAT TF 62 2
21 | DHCO72 CHE R NADU TF 72 1
22 0591333000 F2v I TTTAS 1
23 1 000338000M 72727 ;M10 2
24 10003390000 NRyFr ;M10 2 |M1077 7 M
25 | NC2L20150 FyvALFy b 2227 M20X1. 1

-11 -




MFH5050R J# L—Y/1\—AX 4%

FyRy 4o ZNo. 1

TIARA—ILA

A& 5 o5 5 B i 4 i A% T =
26 | PC032032 YLy 3. 2X32 1
27 | 075318000M W H 1
28 | BSZ08020 afHERNLE T M8X20 6
29 | BSZ10030 afAZRLE 7 M10X30 6
30 |BZ12030 ALk 8.8 M12X30 4
31 |BZ12045 ALbF 8.8 M12X%X45 2
32 | VAGXLC050 VLR LC—50 ZA——AG—X 2
33 [ WsA08 NEXFHX 33U MS 6
34 [ WSAL0 NEXHFHX 337 M1O0 6
35 | WSA12 NEXYPHx 337 M1 2 7
36 | BZ12060 ALk 8.8 M12X60 1
37 |Nz12 Fvh 8 2v2 M12 1

-12-




MFH5050R J# L—Y/1\—AX 4%
K354 7

o

5
1

3

»
EITHE
AHET| 55 & 5 B mi 4 i) A% T =
1 | 1518450004 V7—1U; 254X4 1
2 0897611004 7 — U R A 1
3 18040330002 17— 1 1
4 10899470004 B 78— 1
5 |8040360002 T —; 2 1
6 | 1514940004 Fovary7T—ALCP 1
7 | 0717700000 Ty va 2
8 | 151476100M Frvaray R 1
9 | 071883000M Jyiy;30. 5X4. 5 2
10 | 1466520004 77— 1
11 | 046336200M Ay ZFvyh;M40X1. 5 1
12 | 025266000M Fa AP H R 1
13 | J30310 T—a—7_X7 U7 30310 1
14 | J6306LLU _7YUr7 6306LLU 2
15 | ORGO50 oOVy7 G—50 1
16 | DHCO72 CHHENAY TF 72 2
17 | DCO30 CHHA AU Y7 30 2
18 |NZ12 Jv bk 8.8 M12 2
19 | 000048200M F; 8X35 1
20 | PC032016 Uy 3. 2X16 1
21 | WRAOS v 7R M8 1
22 | ONA6 JV)—A=v 7L A M6 1
23 | VAG84RC65 ~JLFV~Lh AGS8 4Y7 C65 1
24 | BZ12040 ALk 8.8 M12X40 6
25 | PC050045 JUEL 5X45 1

-13-




MFH5050R J# L—Y/1\—A~"X 4%
K354 7

26
5
1

o

3

A& 5 o5 5 B i A i A% T =
26 | D8511013 FA N —) D85X110xX13 1
27 | 1518460006 2TV A $p6X29X110 1
28 | 085137000M Ty 13X3. 2 1
29 | WSAL2 NEPFHFX 337 M1 2 6

-14 -



MFH5050R J# L—Y/1\—AX 4%

Xy ANoe.2

EITAR

13244-4

31 . §_44

2
21 1027
‘ 5
Bl

N

eV PRy AN~

AHER| W oM’ B B w4 i) 8% fii =
1 |0890890004 XYRy 72 ;R 1
2 | 0701953004 XYARy 7 X, L 1
3 | 1494871004 7—1U ;180 1
4 10701970000 ¥ 7 bk 1
5 0701980000 ¥ 7k 1
6 | 0828392000 ¥ 7k 1
7 10702001000 Xror 7 b 1
8 10702010000 ¥ ;36T 1
9 10702020000 XY ;36T 1
10| 0702030000 XY ;30T 1
11 0702040000 X¥;26T 1
12| 0702050000 ¥ ;21T 1
13 | 075318000M | ¥4 % 1
14 | 0702071004 XY ;19T 1
15 | 0702081004 XY ;17T 1
16 | 0828760000 HT—;30. 5X3. 5 2
17 | 0702100000 77T 1
18 | 0828401004 T—URA; 2 1
19 | 067931100M Ty ;12 2
20 | 0702111000 T — 3
21 | 0702170000 T — 1
22 | 070212100M | 1T — 1
23 | 0669544006 vaAfrbh; 2 2
24 0702137000 T H 1
25 | 0809232000 ¥ 7 FCP 1

-15-




MFH5050R J# L—Y/1\—AX 4%

Fy Ry ZNo.2
AHES| B M F B il m 4 i) [EES fii

26 | 0809212004 77w K 1
27 | 0706431000 Ty va 2
28 | J6206 R—=N_T7TV7 6206 6
29 | J6306 R—=N_T7V7 6306 2
30 | JRNA4905R =—FKAx_XT7U7 RNA—4905R 1
31 | D30507 FANLT—L D3OXE50X7T 2
32 | D40558 FANLT—L D4A40OX5E5XS8 3
33 | ORGO30 ovVr7 G330 3
34 | ORP020 oOVy7 P20 2
35 | 0591333000 T2 I TTTAS 1
36 | 000338000M 7277 ;M10 2
37 | 0003390000 Ny 2 |M107Z 7 H
38 | 056984000M 7 Vw7 17X3 2
39 | PS080040 2FY T 8X 40 2
40 | 042783600M Ty ;12 2
42 | BSZ10045 afHARLE 7T M10X45 14
43 | NC2L20150 Xy v ALFYy R 2V2bBZ M20X1. 5| 1
44 | BZ12040 ALk 8.8 M12X40 4
45 | BZ12045 ALk 8. 8 M12X45 2
46 | BZ12060 ALk 8.8 M12X60 2
47 | NNF12 75 0FAnrFyh M1 2 4
48 | 0809741000 TRy UK 1
49 | PC032032 JUYELY 3. 2X32 1
50 | BZ12050 ALk 8.8 M12X50 1
51 | 0702061004 ¥ ;20T 1
52 | 0702091004 ¥ ;16T 1
53 | ONA6 JIV)—A=v 7L A M6 2
54 | WSA12 NEXPFHX 33d7 M1 2 6
55 | WSA10 NEXHFHX 337 M1O0 14
56 | ONB6 7YV —A=v 7))L B M6 1
57 | ILT380 Afrany %A 7. 5X382 1

-16 -




MFH5050R T # L—Y/\—_RX4A
75414 —)L

33

%43
<

A& 5 s & 5 B i 4 i A% T
1 | 1500100004 VXTI TTAKRA—IL 1
2 0897624004 FA 7 9
3 | 1500110004 T R— 1
4 |0899490004 T7IA KA =) ; R 1
5 |0899511004 T7IA KA —I; L 1
6 | 0899520004 T IARA—I; M 1
7 | 0899532004 FA TIRNVE 9
8 10799983004 | L 2
9 |1008810004 Fy v/ 2
10 | 0808062000 HT7—;50X26. 5 2
11 | 0899550000 HI—;50X56. 5 1
12 0899560000 HT7—;50%X30 1
13 | 0897462004 VZ7—U ;180 1
14 | 0897611004 7 — U KRR 1
15 | 046336200M Ay F vy h;M4A40X1. 5 1
16 | NC2L30200 XyvALFy R 2227 M30X2. 00| 1
17 | PC063056 YLy 6. 3X56 1
18 | WRA30 v 7 HFR M30 1
19 | BXI12050 ALK 10. 9 ¥ M12X50 2
20 [NZ12 Fvh 8 2v2 M12 2
21 | BX12075 ALE 10. 9 M12X75 2
22 |NZ12 Fvh 8 2va2 M12 2
23 | WSAL2 NEPFHFX 337 M1 2 2
24 1072013300Y |NATFLrTUviv 12 2
25 [ 118592100 |[/NAT v TUwi v ; 14X4, 5 36

-17 -




MFH5050R T # L—Y/\—_RX4A
75414 —)L

33

43
17/1 @b{}/

AHEE| & W & & w4 i A% fii =

26 | J6310 R—=L_XF7YZ 6310

27 | D588012 FANLT—L DE8X80X12 2
28 | G63756 FA N —L G63XTHX6 2
29 |BX16150040 |[A/Lk 10. 9 M16X1. 50X40 72
30 |BX14150035 |A/LF 10. 9 M14X1. 5X35 36
31 | TRK16030 6 hAXY 10. 9 Z7HKI M16X30 4
32 [NZ16150 Fvh 8 2¥a2 M16X1. 50 72
33 | BZ12040 ALK 8. 8 M12x%X40 6
34 | BZ16040 ALBF 8.8 M16xX40 8
35 | BSZ10030 affHZRNLE 7T M10X30 6
36 | BCI10060 ALK 10. 9 AF> M10X60 18
37 |NZ16 vk 8 232 M16 12
38 | WSALO NREYPHFx 337 M10 6
39 | ONB6 JYV—2=vy )L B M6 2
40 | NSZ10 aB xSy h 8 22 M1O 18
41 | J21310 Favy 7Y s 21310 1
42 | WSA16 NExYPHx 337 MI16 80
43 | WSA12 NEXYPHx 337 M1 2 6

-18 -



MFH5050R Z# L—Y/\—ARX4&
A—J)L

7 Ry ANO2
HE23~
A& 5 s & 5 B i 4 i A% T =
1 | 0800171004 FlL—ra—L 1
2 |0800191004 7y ho—)u 1
3 |0800212004 V¥ m—1 1
4 |0800245004 74— Ra—1 1
5 |0804271004 ¥ 7k FL—rm— 1
6 | 0804280004 D2 a2 NER A= R N By 1
7 10800275004 HA R7—2L; R 1
8 | 0804315004 HA RT7T—L; L 1
9 |0800312004 n—L7—5h; 1 1
10 | 0800333004 n—L7—5h; 2 1
11 | 0800342004 V7 hT—A 2
12 1070279100M ¥ 7 b 1
13 | 081247300M ¥ 7 b 1
14 | 0800300004 A KL 2
15 | 070286100M AT T IRVE 2
16 | 0702892000 Ty A 4
17 0702872000 Ty va 4
18 | 070290100M T — 2
19 | 055204100M T — 2
20 | 0674900000 757 8X 2 2
21 0702810004 A7walry ;14T 1
22 10702820004 A7vary b, 15T 2
23 0702840004 A7y b, 30T 2
25 0702780004 A KL H IN— 4

-19-



MFH5050R J# L—Y/1\—AX 4%

a—JL
AHES| B M F B il m 4 i) [EES fii
26 | 0665764006 I G N | 2
27 | 0800390006 AT T 2
28 | 0831693000 FoaaRk—A ;450 4
29 | 096104100M Uiy 4
30 | 153138000M HF—;30. 5X23 1
31 | 058125200M Ty 4
32 | 074063100M A 5
33 | 075318000M WAV 5
34 | 1292861004 Ry L—X 1
35 | EWK869932 SFY¥7 1,/8 4
37 | 0007290004 A KL 4
38 | BX112060 ALk 10. 9 ¥ M12X60 2
39 | BZ12045 ALk 8.8 M12X45 2
40 |NSZ10 afXZFvyh 8 232 M1O0 12
41 | BX12045 ALk 10. 9 M12X45 2
42 |NUZ12 Urvyh 8 M12 2
43 1072013300Y NATU Ty ;12 2
44 | 059483000M B FRNLE 8. 8 M8X25 4
45 | NSPOS afXATYV Ty M8 4
46 | CPO6012 +FRaxrY M6 X1 2 6
47 | CP06016 +F_Raxy M6X16 2
48 | NP06 ATV 7 Fy b 4 M6 2
49 | PS080050 AT 8X50 1
50 | PC032036 JUEY 3. 2X36 5
51 | PC050036 JUEL 5X36 4
52 | ONBS1 JY)—Z2=wv7NV B PT1,/8 4
53 | ONB6 JVY)—A=v7)V B M6 10
54 | NC2L20150 Xy v ALFyr 222 M20X1. 5| 5
55 | JUC206D1 _7YJrs7 UC206D1 2
56 | JUEL206D1 _X7Yr27 UEL206DI1 2
57 | LA60041 n—5Fxr—2r 60X41L 1 | .60, 61Ff
58 | LA60042 n—5Fx—2r 60xX42L 1 | Re6off
59 | LA60047 n—5Fx—2 60X47L 1 | &.60, 61}
60 | AAO6O YET 60 3
61 | ADO60 1y F 47y~ 60 2
62 | 081114100M FlL—h 2
63 | EWK864206 LEYX7 ; 4XM6 4
64 |NZ12 Fvh 8 2v2 M12 4
65 | WSAL2 NEYPHx 337 M1 2 4
66 | WSA12 NxYPHx 337 M1 2 2
67 | WS06 NRxYPHx 237 M6 6
68 | WSAL0 NEXPFHX 33a7 M1O0 12
69 |BZ12060 ALk 8.8 M12X60 2
70 | 073444000M N - | A

-20-




MFH5050R T # L—Y/\—_RX4A
HIN—

A& s 5 B mi 4 i) % T
1 | 0945472003 A RHX—CP 1
2 | 0945730003 HR—CP 1
3 | 0945480003 777> hCP 1
4 10945491003 777 v bk 1
5 | 0945500003 HN—=TL—hk ;1 1
6 | 0978042003 HN—=TL—]; 2 1
7 0978051003 HR—=FL—]; 3 1
8 | 0945530003 HN—; F 1
9 | 097803000M Fa v 1
10 | 076510000M Fa v 5
11 |EG398182340 |7V v 7 As sy 1| RL13fT
12 | 1515050003 HX—CP ;R 1
13 |EG026109103 |V v+ 2
14 | 0796583000 =X ;50 7
15 | 079659100M WA S 28
16 | 044097200M Ty v ;8 20
17 | WRAOS v I HE M8 6
18 | PS040016 2FY T 4X16 7
19 | BSZ10025 aBHERLE 7 M10X25 4
20 |NSZ10 afXZFvyhk 8 2¥=2 M10 4
21 | 044098500M Tyiv ;10 4
22 | BSZ08020 aFHRLE 7T M8X20 34
23 | BSZ08016 aBFHRLE 7T M8X16 6
24 | NSPOS8 aAfXATV Ty s 4 M8 42
25 | WSAO8 NEXFH X 33T MS 2

-21 -




MFH5050R T # L—Y/\—_RX4A
HIN—

e I R s B i 4 i A% T
26 | CP06012 +FRaxry M6 X1 2 8
27 | NP06 ATV T7Fy k4 M6 8
28 | 1064780000 FYL s A4 a7 6 4 1
29 | 1061710000 TV -4 a3y 8 1
30 | 1339790000 STAR~—Z7 7L ; 6 3 2
31 | 1245930000 F~L: MFH5000 1
32 [ WSAL0 NEXHFHX 337 M1O0O 4
33 | 1521470003 257 —CP ;R 1
34 | 1521500003 FX— R 2 1
35 | BZ20050 ALBF 8.8 M20X50 1
36 | NZ20 Fvk 8 2v=2 M2O0 1
37 | WSA20 NEYPHx 337 M20 1
39 | 1061720000 TV rA4ay 9 1
40 | 1511820000 TV A4 a7 269 1

-22-




MFH5050R

G345

T+ L—/N\—ARR4A

5

A& 5 s & 5 B mi 4 i) A% T =
1 | 1139410004 Xy U7 1
2 | ONCS1 J)—A=v7NV C PT1,/8 1
3 | KMSTO14 TFrHYrsavXxxyv S 14 1
4 1139421004 AL 1
5 | 1139430004 F v bk 1
6 | 1139441000 7oA 1
7 | 1139551000 TIA K 1
8 | 0007170000 Fa—at 1
9 | 1242781004 H/X—CP 1
10 | 1242830000 DA N/ s 2
11 | 076510000M Fa v 3
12| 072013300Y NAT U Ty ;12 4
13 | BZ12030 ALk 8.8 M12X30 4
14 | WSA12 NEYPHF 337 M1 2 4
15 | BSPZ08016 aBXSWYFARLE 7 M8X16 12
16 | BSZ10030 afARLE 7 M10X30 2
17 | 044098500M Tl ;10 5X3. 2 2
18 | WSA10 NxYPHx 337 M1O0 2
19 | 124287000 | /~> R/ CP 1
20 | 1139480000 rray T — 1
21 | 1242841004 V¥ v A TL—KCP 1
22 | ORPO60 OV»yZ7 P60 1
23 | 000087200M |_N—HEr ; 16X2. 3 1
24 | 1489080000 ;0. 6 -

-23-




MFH5050R J# L—Y/1\—ARX%

BAXNTD
14382
A& 5o 5 B i A i % fii =

1 | 0008561000 4% (/3);10,/80—-12—-6PR 2 | R13~15ff
2 10009741004 [T 62X80 2

3 | J30208 T—Rua—I_71J 7 30208 2

4 730206 T—Rua—I_X71J7 30206 2

5 | 0009750003 =TTy ; 40X80 2

6 | ONBS1 sV —2=v 7L B PT1,/8 2

7 1 000712000M FyvALFy b, M24X1. 5 2

8 | PC040032 JYUELY 4XxX32 2

9 1 000415000M ¥y v/ ;62 2

10 |BXI16150050 |AR/L Kk 10. 9 ¥» M16X1. 50X50 | 10

11 | WSAl6 NxYPHx 337 M16 10

12| 000976000M HA—NF v h;M16X1. 5 10

13 | 0003791000 4% ;10,/,80—12—6PR 2

14 | 0003860000 Fa2—73;10,/80—12 2

15 | 000854000C RA—N ;7. 00—12 2

-24 -




MFH5050R J# L—Y/1\—AX 4%

(NMIES
4
18 1 %///;/
5
AHEE| & M & & B i 4 i A% fii

1 |1632540004 | AF—CP ;50 1
2 | BZ12035 AR 8.8 M12X35 4
3 |WSA12 NxYPHx 337 M1 2 4
4 |NZ12 Fvh 8 2va2 M12 4
5 | 1632440000 ToHyFRyx; 790 2
6 | 1601340000 VYo7 2
7 | 1601350000 | r ST HY 1
8 | CP04025 +FRaxrY M4 X25 6
9 | NNFO4 75V FAfuarFy b M4 6
10 | 1603681000 RPvariAb; 2PG 2
11 | CP03012 +F_RaxrY M3 X1 2 4
12 | WRAO3 IR M3 4
13 | NNO3 FAarFyh M3 4
14 | 1632610000 Z2—FR:5000X2150%X200 1
15 | 1251850000 Jraxvh; ¢ 30 2
16 | ILT150 A vaay I HA 3. 5X152 20
17 10009421000 |/~ ¥ SR ;2 2
18 | BSZ08020 afFHERNLE T M8X20 4
19 | 080414100M Ty 8 4
20 | NSPO8 AHEATV Ty s 4 M8 4
21 1604031000 | ~2 B N—FR A 1
22 | 1600840000 TV kA e a v R 1
23 | 1601500000 FYL s wray Yy R 1
24 1601510000 S~ ; 15km/h 1
25 | 1630370000 FaIHN—FRACP ;a7 Ry 1 | A7 ar

-25-




HA-50

INT—3q(4 2k

AHEE| & M & & B o 4 i A% fii =
ASY | JHAO50ASY NRU—Ta4F; HA—50 1

1 | JHAOBOIASY [ RXTU—=VaAf bk (L)) ; HA—50 1

2 | JHAO502ASY | RNU—=Ya A b (TUH); HA—50 1

3 | JPY6226-4 vrwvdxa—2 (L :H:HA) 2 | R

4 | JHASY AL 7 (34X89. 3) 2

5 | JFY6228-5 T4 T4 ra—r ArF (H, HA) 1

6 | JHA050-1 NAT A4 F HA—50 1

7 | JPC14ASY 75Ty 14 4

8 | JHO50-3 Tr¥rHNRN— ) HA—-50 1

9 | PS100075 AFY LT 10X75 1

10 | JYPHAO050 NATYxXa—7 Tou¥ HA—50 1

11 | JH050-4 TN~ TUX HA—50 1

12 |6226-12 vryda—z (2 110H) 1 | A7y ar AT

X NIV HEAPTOYY 7 hATTI94216,/32—21H

- 26 -










nj
TH]

g

S—2407028B

F & A # 0668555 F m 1 L K # 1 0 6 1 F ih 2
TEL 0123-26-1123
FAX 0123-26-2412

F M E XM 066855 FmmLEEREH:H; 1 06 1 F M 2
TEL 0123-22-5131
FAX 0123-26-2035

098-4100 XIEMEEMFLEHORY1191EFM44
TEL 0162-82-1932
FAX 0162-82-1696

BOIL B EPT 0802462 W LA 2 2% 1 THEH1 2% 4
TEL 0155-37-3080
FAX 0155-37-5187

PIREEXR 086-1152 FEZMHZFRHILET 2 TH 16 &F 2
TEL 0153-72-2624
FAX 0153-73-2540

FRIEETAEAMTILEMRE 1 111E]120F3
TEL 0198-46-1311
FAX 0198-45-5999

BB EHERKEHFSETH2 1 — 1
TEL 022-353-6039
FAX 022-353-6040

vl B ¥ P 3230158 HF K B /bt R 2 5 1 2 — 1
TEL 0285-49-1500
FAX 0285-49-1560

WA R EPT 4850081 BHRB /N THEANFTIHG 78 — 1
TEL 0568-75-3561
FAX 0568-75-3563

B = Z¥EpPr 7000973 MLEBMLUMAEAXRTFEHF 704 —103
TEL 086-243-1147
FAX 086-243-1269

He A B % fr 8618030 REAEBEAMER/MILAT1 6 3 9 — 1
TEL 096-389-6650
FAX 096-389-6710

OB EFT 8851202 EMEMB T ESWHETEELY 1003 —2
TEL 0986-53-2222
FAX 0986-53-2233

Hlge
Ho}
1113
e
3

1t & 8 ¥ PFr 028-3172

DiE

it
m

W& & % PFr 984-0032





